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1 Identify the grammatical error in the following sentence. "Our society's fascination with
celebrities lives has resulted in recent stalking incidents.

A. Subject-verb agreement error
B. Punctuation error
C. <sub>Pronoun-antecedent
agreement error</sub>
D. Apostrophe error

2 Choose the correct word or phrase to complete the sentence. Ever since he married Jane,
he's had a new ____ on life

A. title
B. rent
C. lease
D. loan

3 Read the sentence and choose the appropriate option. All animals are born with innate or
......... qualities. As they grow, they pick up new skills from their environment

A. illicit
B. immanent
C. imminent
D. eminent

4 Fill the gap by choosing the best answer. America is ......... at the front of the race to become
the world's most obese country

A. underling
B. underbelly
C. undecidedly
D. undeniably

5
Choose the correct option to complete the sentence. A look of ......... came over Nancy's
face when the verdict was announced. She now wants tomeet with lobbyists who work to
change laws for the betterment of society.

A. disgust
B. deform
C. discussed
D. disperse

6
Read the sentence and choose the appropriate option. Bryan's friends dared him to jump off
of the cliff into the awaiting lake below. But the intuitive boy ......... the danger because the
lake looked shallower than usual.

A. foresaw
B. forced
C. forsake
D. forewent

7
Fill in the blank with appropriate phrasal verb. An eagle, if pressed for food, might ......... a
small baby that had been left in the open unprotected, but such an opportunity must occur
very rarely.

A. carry out
B. carry on with
C. carry off
D. carry through

8 Fill in the blank with appropriate verb given below. She ......... on trying to pass her driving
test but fails every time

A. had kept
B. is keeping
C. keeps
D. kept

9 Fill in the blank with appropriate verb given below. She ......... working on that manuscript for
2 years now

A. is
B. has been
C. had been
D. will be

10 Complete the sentence by choosing the best option. The children at the deaf-mute centre
can _____ hear _____ speak.

A. neither…and
B. neither…nor
C. either…and
D. either…nor


